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® Please check that this question paper contains 6 printed pages + 1 Map.

® Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 26 questions.

® Please write down the serial number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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Series : TYM/C SET -1

e, 32/1

T . qlieneff i 1 IT-YfETH! F TE@-T53 |
Roll No. 31w TG |
Candidates must write the Code on the
title page of the answer-book.
o UG H A ok 38 TA-I 1 Higd I8 10 + 1 A 7 |

- IR g1 <l 3 e T shie e b B ST -Gl % JE-Uss W ford |
AT A L Toh 38 TH-T H 26 TH F |
FHAT I 1 I FTEH T TF T @ U8, T3 1 5607k e ford |

39 YH-TF I T o 1Y 15 e o1 9o fean @ | Y- 1 oot q@ite 4 10.15
ot foham M@ | 10.15 S & 10.30 9 G BT hddd I-TF H U 37 39 G &
A o IT-YfEqehT T IS IR el ford |

Please check that this question paper contains 10 printed pages + 1 Map.

Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this
period.
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G 1959 :

(i) 3T IHH-TF 4 FT26 97 & | G 397 317 & /|

(ii)  FcI% 7 & 37 3 GrHA R TTE |

(iii) T GEIT1 @7 7% 3T TG-3707 597 & | §ei Jo71 37 BT 3 |

(iv) ¥o7 G&IT8 T 18 T Jd% J97 3 37 H1 & | 578 G Jc9%b Jo7 &7 I 80 idl &
371 @7 7&T &1 1T |

(v) Y9 GEIT19 T 25 7% Te9% J97 5 3 1 & | 578 @ Y% J97 &7 I/ 100 715 @
371 @7 757 &1 05T /|

(vi) F97 G&IT 26 THIT & TEEd 5 | 39% &1 97T 8 26(A) 3K 26(B) 126(A) 2 3% HT
gIAETT @ 7T 26(B) 3 31 FT YT @ & | Frafad &7 397 qUf 817 T 38 3791 I -
JIETT & T 771 HRT |

(vii) T F97-97 F faheq 781 § | o7 ot 5 gol 4 siakes faweq & 1 08 g gea 7 @
T & 37191 T &7 [y 5T BT E |

General Instructions :

(i)  The question paper has 26 questions in all. All questions are compulsory.

(ii) Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries 1 mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi) Question number 26 is a map question. It has two parts 26(A) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

32/1

questions. You have to attempt only one of the alternatives in all such-questions.
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1960 = SR 3Tfereha forepTerefier <uTi 3 319+ 3TTueh! T 77 | I wvifed fomarm ? 1
e
“$%2 gl o’ 1 THTYAt <ht FrgfeR = A 2
e
18/ STaTedt H g U 9t HEAT B Sl bl 3k TR gRT HTEA! I o hI W R
ohell TRIT 7

Why did most developing countries organize themselves into the Group of 77 during
1960s ?

OR
Why did the East India Company appoint ‘Gomasthas’ ?
OR

Why were large number of children pushed to low-paid work during the 18" century in

London by their parents ?

AT T 14 9E o SR qTogleataat, fepdrali <l Sigelt Wi ol U 1 Tal oL Hehl 7 1
Fran
=1ed fefera g foftaa foepfore Uoel’, 1836 1 T HEaqUl HeT i o1 ?

Why could not manuscripts satisfy the increasing demand of books in Europe during

fourteenth country ?
OR

Why was ‘Pickwick Papers’ written by Charles Dickens became a notable event of
1836 ?

HHTRIAT oh STTYR 9 EHTEAT ST SFf1ehT0T <hIfaT | 1

Classify resources on the basis of exhaustibility.
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Sfearay i ATgeTiie TR 3TN sficient 6t TgEEThard TR H A TS FHifT |

Differentiate between community government in Belgium and majoritarian government
in Sri Lanka.

Tl TGl o faehTd o o1& fhe TR =T 81 Hehd @ 7 1

How can two persons have different developmental goals ?

SIS BH TTh{eh 3cATGl hl 3 &I H UREfdd i 7, a9 I8 Tarary g i &mh &
3T el 7 7 1

When we change natural products into other forms, which category of economic sector

such activity comes ?

g7 o fafm= 1 arem o wiehr fohan STar 8 2 1

Why is money accepted as a medium of exchange ?

‘Yo fova Ig' o aTg fore it 3mfefes gemati 1 aui Hife | 3x1=3
YT
St T 35 e 3 e i e 6 e o AR |
JHYCT
Ifereft vraTedt 3 2 S (s H STat b Rt T e et w1 avi iR |
Describe the economic conditions of Britain after the ‘First World War’.
OR
Describe the role of ‘Jobbers’ in the beginning of twentieth century in India.

OR

Describe any three major problems faced by migrants in Bombay (Mumbai) during

nineteenth century.
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10.

11.

12.

13.

32/1

“BUEH ¥ f=Rl % U TIR-T9R 3R Sed-Ga1e8 & gR G |7 YT 1 fageror

9 ¥ g o HeH § HINT | 3
YAl

“THig < ST H TS o B TR H I AATY Wfaerett aie & |7 U &1 foversor

IeTELIl Higd T |

“Print created the possibility of wide circulation of ideas and introduced a new world of

debate and discussion.” Analyse the statement in the context of religion in Europe.
OR

“Premchand’s novels are filled with all kinds of powerful characters from all levels of

society.” Analyse the statement with examples.

AT T 9971 SToT GURUT hid hl IRl F41 § 7 T I | 3

Why is there a need to develop rainwater harvesting system in India ? Explain.

IRA T TS Tae shi fohegil diF SHE TR i ST T | 3x1=3

Explain any three major problems faced by road transport in India.

AT fohH TohR 6 TEfT ST & STaid ATdT & 7 39 JohR bl Tefa oqaw 6i fovgil o
Torerranat =1 St HifsT | 1+2=3

Under which type of federation India comes ? Mention any two features of such

federation.

AT T ST SHTEAT 1 GHT A oh foTu Ioerf fordi dH el i avH R | 3x1=3

Describe any three factors that are responsible for breaking down of caste system in

India.

5 C1



14.

15.

16.

17.

18.

19.
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“THIT I oh ToTT 3R 3 |7 39 e ol —ATFHTd 38UsT | 3

“Challenge is an opportunity for progress.” Justify the statement.

3Tfek gfig o foTe waa drvfia feemm stfiamaas i & ? v hifvT | 3

Why is sustainable development essential for economic growth ? Explain.

TSt &eh TS & ATk T T ohe JehR ANTEH L1 & 7 Tse ST | 3x1=3

How does public sector contribute to the economic development to the nation ? Explain.

“IToaTies &k Shl SR AT 1 gdicaTtad fShaT ST =T8T |” dehi dfgd e h
gfte Hifsre | 3x1=3

“The credit activities of the informal sector should be discouraged.” Support the

statement with arguments.

“Iqeier rerror wfskan Sifee, weffelt Tt a9 g1ea |rfed 81 @ 2 |7 96 996 % 9argH
3 fore Pl i i 1 sz il | 1x1o3

“The consumer redressal process is becoming cumbersome, expensive and time

consuming.” Explain any three ways to solve this problem.

WIS ShTTCRTIT G WRIEE @R H Teh A& TgT hl WTEHT UaT hid o foTg Iey
e e fepet wier Sumeit b i <ifie | 5x1=5

CLE]

“YehTT Sol & < Torehd o foru iR gra 3ot mu fopeel i shedt ht auia hifsi |
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Describe any five measures introduced by the French Revolutionaries to create a sense

of collective identity amongst the French people.
OR

Describe any five steps taken by the French to develop the ‘Mekong Delta Region’.

20. TITST A AT Toie T (1919) o foreg Toh UsgeaTd] Hemig =Sl ol i e foram 2

3R Ty ford WepR foma TR 7 = it | 2+3=5
YA
“THh I IUMAETE o faeg foriy w1 gurell Udies w1 9 718 7 et Hifg | 5

Why did Gandhiji decide to launch a nationwide ‘Satyagraha’ against the proposed
Rowlatt Act (1919) ? How was it opposed ? Explain.

OR

Why was the ‘Salt March’ considered an effective symbol of resistance against

colonialism ? Explain.

21. I8l qUT $EAT e % YEAd: ‘BIANYL UBH & W Hebgul % foru seerft fenedl ufw
SHehi Shi ST HITT | 5x1=5

CLE]

TeHA JTRT  J&AA: A ¢! oh Al o AY—TTY FEIT B oh 1T ITRErT Fehegl el hehi
! ST AT |

Explain any five factors that are responsible for concentration of ‘iron and steel’

industries mainly in ‘Chhotanagpur Plateau Region’.
OR

Explain any five factors that are responsible for the location of the ‘jute mills’ mainly

along the banks of the ‘Hugli River’.
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22.

23.

24.

25.

32/1

“AId § Y T Tehet TRl ScATE § wedr 37w 7R far 1 fawa 2 17 39 %em i gfee
HIT | 5x1=5

“The declining share of agriculture in the Gross Domestic Product (GDP) is a matter of

serious concern in India.” Support the statement.

AR ol TSl ST H &1 TS Tdeh Gell o Hawd ol 9UM hifuT | 5x1=5

YAl

ATehAlfIeh T H TSIk Tl o HETd hl 9U <hITY |

Describe the importance of regional political parties in strengthening democracy.
OR

Describe the importance of political parties in a Democratic Government.

“TITRTEIAl T S T&HT AAlsha shl Theldl shl TaTEl & |7 36 e whl FFETd 38Usy | 5

‘Complaints are treated as testimony to the success of democracy.” Justify this

statement.

“foresft = @ Iusierr 31 IcTeeh ford Teh STTMTf=rd 81 Hehd @ 7 3eT8W0T |fgd samedt
Hifer | 5x1=5

CLE]

%S & 991 § gAR SR fohg JepR aitafdd 81 e ? ITeton digd st ST |

How can consumers and producers be benefited from ‘foreign trade’ ? Explain with

examples.
OR

How have our markets been transformed in recent years ? Explain with examples.
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26.

32/1

(A)

(B)

(A)

(B)

g AU (a) I (b) WA % €T T THifeen T@-aHf # 3ifa fpu M@ d | o
w&n <l fefarfiad SRt <kl HerdT 8 Tg=nHT 3R 39 AW qHtes W gkl 18
T3t | fefgu 2x1=2

(i) 98 T STET TR TS HIT T ST g3t |

(i) I8 TR &l SAAATSTAT STT hl T 55 |

3 feu TT R o Ui W@T-aHfas § fefaiad = 3ugs fagt 3 gifse 3
3Ieh A TAfET - 3x1=3

(i)  <hTeell : TqQ FESY o
(i) TS : freT 3 seTd T
(iii) ST : JTTUTTeIeh Sl G

Two features (a) and (b) are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines marked on the map :

(i)  The place where the Indian National Congress Session was held.

(i1)) The city where ‘Jallianwalla Bagh’ incidence took place.

Locate and label the following with appropriate symbols on the same given
outline political map of India :

(i) Kandla : Major Sea Port

(i1)) Bhilai : Iron and Steel Plant

(i11)) Kaiga : Nuclear Power Plant
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e :  frfafiad Je haw gieeatim wharri o ot T S 26 F M We : 5x1=5

(26.1)

(26.2)

(26.3)

(26.4)

(26.5)

39 T I T &l § Tl 3Ta1 3EeH IE §37 T |

39 T 1 919 foafgu Sret < -= aear afed 53 |

3 T 1 AT ST&T gl Tz uo- e 8 |
38 T 1 T & FreTs oitg 31 soard g fa 2

34 TS 1 ATH STET HTT ST FHoll &isl fRIa § |

Note : The following questions are for the Visually Impaired Candidates only in

lieu of Q. No. 26 :

(26.1)

(26.2)
(26.3)
(26.4)

(26.5)

32/1

Name the place from where the Civil Disobedience Movement was

started.

Name the state where Chauri-Chaura incidence took place.
Name the state where Kandla sea-port is located.

Name the state where Bhilai ‘Iron and Steel Plant’ is located.

Name the state where Kaiga ‘Nuclear Power Plant’ is located.

10 C1
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TR H. 26 % T A
Map for Q. No. 26
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